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(A)24 (B)25 (C)26  (D)27

A .
L
M
P C
2% 1 (B)25
Biz o (1) %29 EE L
(2) ¥ LA E- BRIMEA % R
jagam
gt 2 d
(1) Pb=PC e srCp2 ¥ TRLIBCH PR &
PoA b T - BEIAREC S 2E R R
(2) AB=CD=7 ¢ sv ABCD 5 &7 & &40 EE &
& & CD=T
(3) AB+BP+PD+AD P oor Rk
=AB+BP+PC+AD #(1) PD=PC & »
=AB+( BP+PC )+AD |+t it
=AB+BC+AD *® %2 E24( BC=BP+PC )
=7+13+5=25 #(2) AB=7 & © rBC=13~AD=5 #* »
(4) #1121 4235 (B) 25 4 (3)
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3. %7 7, ABCDE ¥ » £/A=100°> * Hépw Bp &R BAE > PILC =2
(97-1)
(A)65°  (B)100°  (C)108° (D) 110°

2% : (D) 110°

Bz onigup 405 (n—2)x180°
jRERM

gLt 2 d
(1) 1 :##2; ABCDE p & fr n%@p £405 (N—2)x180°

— (5—2)x180° =3x180° =540°

(2) £C=(540°—100°)+4=110° |d (1) & © 5v/A=100°" H 4w B & 4p &

(3) #fr1 A 4L (D) 110° 4 (2)

6-132



4, 3 - LiEdl4ad > Hebqld BE L 1 as a2 FNREI A X o T REAT
I

daz TR HY A BRI A6 B § A A APHS o 2 4aT
BBERF A EA Pt H G BBE F A2 (97-1)

(A)140  (B)142 (C)210  (D)212

H
H

1/Ll.
2
i

2% @ (B) 142

B2 BRAwIEY Had 3 Fd 22 #0e ARz v Ta B
Ao d2FEi-o -le- PR bt RN A B ¢ 2 F
A XA G § A iﬁﬂjﬁvfﬁ:ﬁzi&{g‘ ¢ > A hB e BR 4oz o

Pl 24 5

R MBI R4 [ €0 I At

2w

prit 2d

(1) ¢ & o ) 0 e

4ot Bl 4o+ d 35 kA FA e AR b
3Bx4-+2=142

- B
B4 g Bl 1R fed
¢ e B0 A

(2) #F11 ~41:% (B) 142 d (1)
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5. TRE(-)Er @A,y ABCD» # ¢ /B=120°) /D=50°¢ £#-H + T & %
n3ES - APCR: 4% CP|| AB~RC| AD * 4=~ Bl(= )#t7+ » B|ZPCR=?
(96-1)

(A)80°  (B)8°  (C)95° (D) 110°
D

50°

120°

w(-) w(=)
j2% : (C)95°

B2 (1) 25z 47
2 TFR2ZEFZLEPE

(3) n5EAep &40h (n—2)x180°

3

FLit 72

v
3+
-~

(1) EEPCRAD EZ 4wl I(Z) |44 T 72 Metpa - %

(2) APCR = APQR ¢ Grp B354 % ABCDy 3-8 + T & % p
Bdi- APCR> PA = &2,z 204 &
HWyp= 425 SSS. > F 2@
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(3) LPCR=,Q
(4) ~ PCR=/PED

(5) ZA=£PED

(6) 11 LA=LQ

(7) LA+ 2B+ £Q+ £ZD=360°

(8) ZA+/Q=360°—~B— /D
=360°—120°—50°
=190°

(9) £Q+ £Q=190°
(10) £Q=95°
(11) #+11 ZPCR=/Q=95°

(12) #7r1 A& 42:% (C) 95°

1) & 2%z 422 Hpbps
* #RC | AD & Fizbipd

¢ &wCP||AB & Fi=étp%
$(3)~(4) & (5 EpE

w AN & e 5 (4—2)x180°

4 (7) BE &
¢ 7w /B=120° » /D=50°
IARES

4 8) & (6) £ZA=2£Q

d(9) & f3—- ~- =3 &N

# (10)£Q=95° & (3)£PCR=,Q i£.5 &

d (11)
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6. ° ﬁﬁ'"g\m#«ﬁ:}_dpﬁ A5k ¥ X AR e e .?f?f;%%@“zxogﬁb%@ﬁv
ARE- B S RIT AR AT A

(A) x=&2;  (B)2>3, (C)riga (D) &+$FF

ja% : (C) &1 7
2:(1) & n - BRE S (N—2)x180°+N
(2 2 n%EA- BP & BEFDHSHEE 360090 § A 152? R

BERR ;

it e
1) mT=422a-Bp 4 FnjEaaH- Bp &L (n—2)x180°+n

=(3-2)x180°+3=60° » 7 1 | 360°+60°=66 & = & 17 K % F 5~ &

(2) 23— Bp & B0 s#Ae- BR A5 (N—2)x180°+N
=(4-2)x180°4=00° » 7 11 | 360°00°=4 4 B L AT K H S - H

B I -Bp4E T ndEAa- BR &S (n—2)x180°+n
= (5—2)x180°+5=108° > 360° 7 ik 108° f'F oI T BENAT HG
F ¥ Fl = - B
4 m=B25-Bp 4 TnsEAa- B A S (n—2)x180°+n
=(6—2)x180°+6=120° » ¥ 11 | 360°:120°=3 > 3 ¥ 1 = if)¥ ¥ 5 &
- B
(5) #7132 (C) & 7 ) 4 (4)
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7o AT RIS ) m RS - R G R A E IR TR 408
S dkig PR ke PR FNE B 6 A4 ke TR 1228 c Fk T
34 wB(Z) RIPkG SRS S 282 (94-1)

(A) 6 (B)7 €8 (D)9
12
| i 3
3
4 4
w(-) w(=)
2% :(C)8
Bid 1 () TEAPERE T (2) #25¢ RE LA Koo L
A 12
R —
4
®(=)
FEEP
fcit 72 d
(1) &AL R (FH/ > 4oB(Z ) % B
LIMI[N ® DH=HG=3 kETRI AT E & ¢ vl
(2) DQ=QE * AP=PB d(l) & THEAPERE T
(3) = i#25 ADEB % #-7 d(1) LIIN & - &2¢#T 5 $3
(4) PO -2 ADEB s st > 3(2)~(3) & B¢ ME LA Afrdh- £
PQ=( AD+BE )*2 ¢ swAD=12 & BE=4
=(12+4)+2=8

(5) 71 »42:%(C) 8 d (4)
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8. 4T Bz i¥3,ABCD i T 7w #3, ED| FG» /D=75°> Z/ABE=25° -

#/GFB+/GCB=?  (93-1)
(A) 155° (B) 210° (C) 235° (D) 270°
/ /E /D
£ G
B C

2% : (C)235°

Bz (1) nZEap £405(n—2)x180°
(2) T A iitn e
fAgwm

# At

hllly
~

2d

(1) ~FGC= /D=75°

(2) ~ABC= /D=75°

(3) ~ABC= ~ABE+ ~FBC

(4) «.FBC= ~2ABC— ~ABE
=75°—25°=50°

(5) » #2) BCGF p 4 4r(4—2 )x180°=360°
(6) 360°= .~ FGC+ ~FBC+ .~ GCB+ . GFB

(7) ZGFB+ £GCB=360°— ~FGC— ~FBC
=360°—75°—50°
=235°

(8) #714 ARLE(C) 235°
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¢ wED||FG & Fiéfp %
& @ v /D=T75°

2 4om 895 ABCD 5 T 7 2 19
& Tirw B2 HhppE

rEENL R

4 (3) #38 & (2) ZABC &
¢ 5+ /ABE=25°

n%®@ap &£405 (n—2)x180°
d(5) & 2EENLE 2

d (6) #7 & (1) £FGC=75°
& (4) ZFBC=50°

4 (7)



9. 4rT™ B >ABC & 5 aehit = £35K5%
FIT e F3 PQRSTU & &+ = 3835 5 R

A)2a  (B)3a  (C) ga (D) %a (92-1)

f2% (A 2a
Bz (1) tniEA5- Bp &%y 5 (n—2)x180°n
(2) & n5ifAE - @& S 360°n

2 EniFYNEEE I NBEFHE

g
it L
(1) AB=BC=CA=a ¢ v ABC ¥ E& S ahr = 475 &
NI SN X £
(2) «A=s/B=,C s ABC L2z 4 & B nsifajs
=(3—2)x180°+3=60° - Bp &y 5 (n—2)x180°n
() Ll=/2=/3=/4=/5=/6 ¢ 5 PQRSTU 5 it = #2) &
=360°+6=060° *n%EAE - Bt d oy L 360°4n
(4) AAPQ % I = 475 d (2) LA=60°~ (3) L1=,2=60° &
NN
(5) AP=PQ=AQ d(@4) & Tz 47z %E
(6) ABUT 3 & = %£7; d (2) £B=60° ~ (3) £5=26=60° &
¥4 = 755 1 = &7
(7) BU=BT=TU d(6) & r = 475285 EK
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(8) ACRS i & = &7

(9) CR=RS=CS

(10) PO=QR=RS =ST=UT=PU

(11) PQ=QR=RS=ST=UT
=PU=AP=AQ=BU=BT

=CR=CS

(12) PO+QR+RS+ST+UT+PU
=AQ+OR+RC+ST+BT+SC
=(A0+OR+RC)+(ST+BT+S5C)
=AC+BC
—a+a=2a

(13) 12 A ALE(A) 2a
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4 (2) LC=60° ~ (3) L3=L4=60° &

£ 4= 43,51 = 425

d(8) & rz= 4= EE

¢ s PQRSTU % & = #7; &
B 6BETEL

45~ (1)) & (10)

A

ST

4 (11) PO=AQ -~ RS=RC ~ UT=BT
“PU=SC & *i2iti:
ﬁﬁ%ﬁ*?/u}f&_iﬂfr

4 (1) BC=CA=a

J (12)



